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OZolo & &M B4 10,000& * 2009H 2,000
OXoitg & =SS 24 10,000& * 200 2,000
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01 AR 22l 6,772 2,772 4,000
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01 Al&H| 20,000 0 20,000
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OEIHSZEE 2 50,000& * 10 » 20 = 23| 20,000
Oxs3&azel 2l 11,168
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— 522 34,9108 * 198 * 37 1,292
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HEILAEZ 250,000& = 12& 3,000
— A5t AEES(5 250,000& = 12& 3,000
206 = dl 4,220 3,600 620
01 M=l 4,220 3,600 620
OH=s32 & 43& 350,000 = 43| 1,400
OulHII=el & A2 1,500, 000& 1,500
OH=sS32 S=3t&4 30,0003 * 223 * 23l 1,320
401 Al&HI LS04I 104,900 50,000 54,900
01 Al&H| 104,900 50,000 54,900
OB3AEE =A & 50,000, 000& 50,000
OEXNHSZEE AMER 15,000
—=22 8 #x 7 500,000& = 304 15,000
OZstdt dtes 41Xl 5,000,000 * 6I1 2 30,000
Oodsd =X 24014 3,300,000& * 394 9,900
HEY2HAH(EXS) 234,246 227,999 6,247
ol 2ol (L XIS) 86,466 84,706 1,760
20|13t 86,466 84,706 1,760
101 el 4] 86,466 84,706 1,760
03 RIHAZZXE S 86,466 84,706 1,760
Ot olst& 86,466
—Jl22 1,200,360& *» 2% 12 28,809
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—AN2e 2R 7,8333 x 1.5 x 30AI2t » 29 « 128 8,460
— 5222 62,6673 » 2H « 22 » 128 3,009
—dirRsSsItE 62,6673 * 2H » 19 2,382
— SR 90,000& * 28 * 12& 2,160
—Hg¥dse 70,0003 » 2% » 12& 1,680
— &= 1,460
i < Xt 40,0008 = 2¥ = 0.78 » 128 749
- JIEIHE 20,000& * 2 « 1.48 » 12& 71
—JHAI2 &4 110,0008 = 2H = 128 2,640
—Jl2g24 81,524,000& * 0.018 1,468
—dEE= 82,992,000& * 0.038 3,154
—OsH(Hg=s 8) 40,000& » 29 * 43| 320
Jl2ZHI(EXIE) 147,780 143,293 4,487
JI2ZHI(EXE) 147,780 143,293 4,487
201 LBt 3| 76,460 71,973 4,487
01 AtR 22/l 46,005 44,905 1,100
Oget=gH| 23,000,000& 23,000
Oo2g=¢ 12,025
— 2 AlH| 50,000&  1& » 116 5,800
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02 23234l 30,455 27,068 3,387
OZ232= ¥ HMAl 30,455,000& 30,455
202 O4Hl 57,200 57,200 0
01 =AYl 2,000 2,000 0
O=UWH bl 2,000,000& 2,000
02 EAHNYI 55,200 55,200 0
O M 200,000& = 239 * 128 55,200
203 HRF4Hl 11,720 11,720 0
01 JI22FLF=LH 6,600 6,600 0
OJI2=23HRF48l 550,000& = 123 6,600
02 HAIMNAMHRFAHI 920 920 0
OF MY =] 40,0003 * 23Y 920
04 RN2ILRF=LH 4,200 4,200 0
ORN2IHRFAHI 350,000& = 123 4,200
204 X R AH 2,400 2,400 0
01 HHUZ YDA 2,400 2,400 0
os& 150,000& = 12& 1,800
oRsd 50,000& * 12& 600




